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DCG 3/3000 Phl 1|5 | 675 7500 | 1000 | 4000 |
G 7.5/25d AEG| 2 |5 10 7500 | 800 | | 2500 |
G 10/3 i AEG, 3 |5 4 10000 | 1000 | © 3000
G 15[1,5 i AEG| 4 |5 7 15000 | 500 1500
Gle 2000/1/2,5 Sim ! 1 |5 | 10 2000 | 1000 2500
Gle 2000/1/3 Sim | 1 |5 10 2000 | 1000 ' ~ 3000 |
Gle 5000/1/2,5 Sim | 1 |5 10 5000 | 1000 | © 2500
Gle 5000/1/3 Sim | 1 |5 7 5000 | 1000 | ~ 3000
Gle 10000/1/2,5 | Sim | 1 |5 [ 10000 | 1000 | 2500
Gle 10000/1/4 Sim, 2 |5 7,5 10000 | 1000 © 4000
15000 | 1000 4000
Gle 15000/1/4 Sim | 2 | 545%| 7.5 { 5300 | 4780 | 15000 2000 2
10600 | 9560 | 15000 2000 3
15000 | 500 © 2000
HG 53 Fer 115 3 { 5500 | 5000 | 15000 1000
11000 | 10000 | 15000 1000
1 13000 | 1000 4000
HG 55 Fer | 1 |5 5 4500 | 4000 | 13000 2000 '
9000 | 8000 ' 13000 2000
RG 2/1000 Mul | 1 |5 10 5000 | 1000 ~ 4000
RG 48 TIf 2 |5 7 7500 ; 600
RG 49 TIf 55 20 7500 1 . 2500
VH 2500 SFR| 1 |5 10 ‘ 10000 | 500 | '~ 2500
267-B WE!| 5 |5 6,75 \ %
oA WE | 3 |3 675) 7500 | 1000 | | 4000 |
315-A WE K 5 |5 10 : ‘ |
A WE| 2| h | | 12500 | 1000 4000 |

1) vide gr. 58 a
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